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Time : 3Hrs. Sem - IV / CSE

DATA STRUCT.

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4marks.

Answer all Five questions from Group C, each question 

carries 8 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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10.

11.
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What is Graph ? Write Prims Algorithm for Minimal 

Spanning Tree.

DFS 

(a) Binary Search Tree

(b) Merge Sort
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

8.

9.

OR

GROUP - A

OR

Which of following is non-linear data 

structure.

(a) Tree

(b) Array

(c) Stack

(d) Linked List

(a) FIFO

(b) LIFO

(c) SIFO

(d) FILO

O4018 O4018

Write an algorithm for Binary search ?

element in queue.

algorithm to insert at the end of doubly linked list ?

new node at beginning of linked list.

8
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(iii)

(iii)

(iv)

(ii)

P.T.O

OR

OR

6.

                 GROUP  - C

7.

4

4

8x5 = 40Answer all Five Questions.

 

DFS stands for

(a) Depth find search

(b) Depth first search

(c) Depth file search

(d) None of these

DFS 

matrix form?

(a) Multi dimensional array

(b) Arrays

(c) Dimensional arrays

(d) Both (a) & (c)

O4018O4018

Define Insertion sort in brief ?

What is Array ? How it is declared and initialized ? 
Write algorithm  for Matrix Multiplication.

on stack.

8
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4.

(iv)

(v)

(v)

(vi)

5.

P.T.O

OR

OR

OR

From where the insertion starts for B-tree

(a) Root Node

(b) Any Node

(c) Both (a) & (b)

(d) Leaf Node

linked list.

(a) Polynomial

(b) Set

(c) Sparse Matrix

(d) All of these

O4018 O4018

Explain analysis of algorithm in brief.

PUSH POP

4

4
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(vii)

(vii)

(viii)

(vi)(xx)

Answer all Five Questions.
5x4=20

2.

OR

3.

4

4

If you traverse a tree in the inorder and find 
sorted list of elements then it is a
 (a) Binary Search Tree
(b) Binary Tree
(c) Heap
(d) None of these

Which algorithm should not be used for a 
Dense graph.
(a) Prim’s Algorithm
(b) Kruskal’s Algorithm
(c) Both (a) & (b)
(d) None of these

O4018O4018

Define and write algorithm for Peek operation in 
stack ?

Dequeue 

P.T.O
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(xviii)

(xix)

(xx)

(xix)

(viii)

(ix)

(ix)

(x)

the...............

(a) First Node

(b) Middle Node

(c) Last Node

(d) None of these

trees known as?

(a) Branch Node

(b) Root Node

(c) Leaf Node

(d) Trunk Node

the same level.

(a) Binary tree

(b) B-Tree

(c) AVL tree

(d) Normal tree

What is complexity of Binary search algorithm .

(a) O(n)

(b) O(logn)
2

(c) O(n)

(d) O(nlogn)

O4018 O4018
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An empty list is the one which has no-

(a) Nodes

(b) Data

(c) Both (a) & (b)

(d) Address

(a) Binary Trees

(b) Stacks

(c) Graphs

(d) Both (a) & (C) 

Which graph consists of an unordered pair 

of vertices representing the similar edge?

(a) Directed Graph

(b) Undirected Graph

(c) Both (a) &(b)

(d) None of these

How many edges are present in a complete 

graph with ‘N’ vertices ?

(a) N-1

(b) (N-1)/2

(c) N(N-1)/2
2

(d) (N-1)

(xi)

(xvii)

(xi)

(xvii)

(xviii)
(xii)

(x)(xvi)

O4018O4018

P.T.O
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the list is known as

(a) Sorting

(b) Merging

(c) Inserting

(d) Traversal

quick sort ?

(a) O(nlogn)
2

(b) O(n)

(c) O(logn)
2

(d) O(n/4)

algorithm.

(a) Quick Short

(b) Bubble Sort

(c) Binary Sort

(d) Linear Sort

from a stack ?

(a) Push ( )

(b) Remove ( )

(c) Pop ( )

(d) Is Pop ( )

(xv)

(xv)

(xvi)

(xiv)
(xii)

(xiii)

(xiii)

(xiv)

O4018 O4018
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